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| T FAe Y EZE adEAY
! y AR Are FAFTFE
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(a, b, c) o] 7Nk ZHYTh

wpebA ol =A% (a,b,c) 9] MFE

TX Hy =TX,C, =252

T 20 we

i), i)l A A 2AE RS BRE SAE
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AR Wul 49 92 He} 37 4249 ABC 7} 8
273€ VEAD 9, CA - CHY ge? [47]

(7} 2 H7F 4 ABE
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28. ¥ 37 m. pol dE 2EH P 24
y=mlz—4)7 Fh= 5 3 3 A1ED 99 28 A,
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Solution //

2y
.
S
0O

RN
~

A
it n?

ok
e
1o
i
o
N

S
(S

>
r o4

N
K
rr
Y
o
ik
&
X0,
Ify
A
> 0o

M d2ja 22 olelo] 80| 3 2t

=H o ot 223
_IQI_




20178t 13 78 M=ULLHBIH+S) 48 24 i
by. ZHZEO|HF
= obeleh 2ol 7o FH(0)E EFHA U — ——
el 7 = & gl A AH Q:2:1:»AH:433 (i)
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=
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